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2·(5 +6)=2 ·11=2 2

Be rä kn a

2 ·(5+4 ) = 

9 ·(3+4 ) = 

6 ·(7+1 ) =

1 minut =  60 sekunder

1  min = 60 s  

3  min = 3·6 0 s =  180 s

Skri v i s ekun de r

2  min = ___ _____ _____ _____ __ = _____ __ 

2 ,5 min = _ _____ _____ _____ ___ =  ____ ___ 

Skriv 300  i grundpotensform

300 = 3·1 00 = 3·102

Skri v föl ja nd e ta l s om  g ru ndp ot en s:

2 00 = _____ _____ _____ _____  = __ _____  

2 000 =  ____ _____ _____ _____ _ = _ _____ _ 

5 600 =  ____ _____ _____ _____ _ = _ _____ _ 

6 0 = _ _____ _____ _____ ____ = ___ ____ 


